QTY		TITLE	MS	RP	Extended	Skid #	FORMAT	CATEGORY
	26	26 units of	\$	10.00	\$ 260.00	_	1 Gaylord	Office & School Supplies
	9	Quartet 16	\$	27.98	\$ 251.82	721113	1 Gaylord	Office & School Supplies
	102	Louis Garn	\$	1.78	\$ 181.56	721113	1 Gaylord	Office & School Supplies
	87	Hilroy Glos	\$	1.98	\$ 172.26	721113	1 Gaylord	Office & School Supplies
	92	Louis Garn	-	1.78	\$ 163.76	721113	1 Gaylord	Office & School Supplies
		#HILROY 3	\$	5.98	\$ 143.52	_	1 Gaylord	Office & School Supplies
		P+G MULT	\$	4.94	\$ 143.26	1	1 Gaylord	Office & School Supplies
		Sharp 16-D		45.99	\$ 137.97	721113	1 Gaylord	Office & School Supplies
		Louis Garn	_	1.78	\$ 137.06	721113	1 Gaylord	Office & School Supplies
		Hilroy Stite		1.76	\$ 130.24	_	1 Gaylord	Office & School Supplies
		HILROY HO	_	3.96	\$ 114.84 \$ 111.36		1 Gaylord	Office & School Supplies Office & School Supplies
		P+G BRAIL	\$ \$	6.96 3.93	\$ 98.25	721113	1 Gaylord 1 Gaylord	Office & School Supplies
		Pink Pencil	_	6.96	\$ 97.44		1 Gaylord	Office & School Supplies
		FS GOLD 3	\$	12.96	\$ 90.72	721113	1 Gaylord	Office & School Supplies
		P+G ASL SN	-	3.93	\$ 90.39	721113	1 Gaylord	Office & School Supplies
		Pen + Gear	_	29.88	\$ 89.64	_	1 Gaylord	Office & School Supplies
	18	P+G TIE DY	\$	4.94	\$ 88.92	721113	1 Gaylord	Office & School Supplies
	47	Louis Garn	\$	1.78	\$ 83.66	721113	1 Gaylord	Office & School Supplies
	66	Interlined	\$	1.26	\$ 83.16	721113	1 Gaylord	Office & School Supplies
	10	Hilroy 100	\$	8.08	\$ 80.80	721113	1 Gaylord	Office & School Supplies
		P+G 200CT	\$	2.94	\$ 79.38	721113	1 Gaylord	Office & School Supplies
		RAINBOW	\$	6.96	\$ 76.56	721113	1 Gaylord	Office & School Supplies
		HILROY HU	\$	3.96	\$ 71.28		1 Gaylord	Office & School Supplies
		FS ALIGN B	_	12.96	\$ 64.80	721113	1 Gaylord	Office & School Supplies
		Louis Garn	\$	1.78	\$ 62.30	721113	1 Gaylord	Office & School Supplies
		MINI POUC	<u> </u>	5.96	\$ 59.60 \$ 57.26	721113	1 Gaylord	Office & School Supplies
		Hilroy@ Fe FS MED CC	-	8.18 6.96	\$ 57.26 \$ 55.68		1 Gaylord 1 Gaylord	Office & School Supplies Office & School Supplies
		GREEN VIB		2.18		721113	1 Gaylord	Office & School Supplies
		Pen+Gear S	\$	1.77	\$ 51.33		1 Gaylord	Office & School Supplies
		DYMO Letr	⊢÷-	49.99	\$ 49.99		1 Gaylord	Office & School Supplies
		Master Loc	-	9.97	\$ 49.85	_	1 Gaylord	Office & School Supplies
		DYMO 217	\$	48.88	\$ 48.88	-	1 Gaylord	Office & School Supplies
	7	EXPANDAB	_	6.97	\$ 48.79	721113	1 Gaylord	Office & School Supplies
	8	DOG/CAT S	-	5.96	\$ 47.68	721113	1 Gaylord	Office & School Supplies
	2	QRT PLS 16	Ė	23.48	\$ 46.96	+	1 Gaylord	Office & School Supplies
		Louis Garn	_	1.78	\$ 46.28	+	1 Gaylord	Office & School Supplies
		Expo Dry E	_	15.28	\$ 45.84		1 Gaylord	Office & School Supplies
		Hibroy 300	_	4.96	\$ 44.64	721113	1 Gaylord	Office & School Supplies
		U Style Eco		6.96	\$ 41.76		1 Gaylord	Office & School Supplies
		Five Star 1	\$	19.97	\$ 39.94		1 Gaylord	Office & School Supplies
	2	FS RECYCLI Quartet 16	\$ \$	9.96 18.98	\$ 39.84 \$ 37.96	-	1 Gaylord 1 Gaylord	Office & School Supplies Office & School Supplies
	2	CL CAT ICE	۶ \$	18.97	\$ 37.96	721113	1 Gaylord	Office & School Supplies
		CAMBRIDG	Ė	9.28	\$ 37.34	721113	1 Gaylord	Office & School Supplies
		טטוווטואוטו	٧_	5.20	7 3/.12	1,51113	1 - Gayloru	Torrice & Jeriour Juppiles

						1	1	
	HILROY HU	\$	3.96	\$	35.64	721113	1 Gaylord	Office & School Supplies
4	INVITATIOI	\$	8.87	\$	35.48	721113	1 Gaylord	Office & School Supplies
1	Paper Mate	\$	34.98	\$	34.98	721113	1 Gaylord	Office & School Supplies
5	PENCIL PO	\$	6.96	\$	34.80	721113	1 Gaylord	Office & School Supplies
2	Sharp EL53	\$	16.98	\$	33.96	721113	1 Gaylord	Office & School Supplies
6	Hilroy Refil	\$	5.42	\$	32.52	721113	1 Gaylord	Office & School Supplies
7	FS RECYCL	\$	4.62	\$	32.34	721113	1 Gaylord	Office & School Supplies
8	P+G EXPAN	\$	3.93	\$	31.44	721113	1 Gaylord	Office & School Supplies
3	PG 1`` DV 4	\$	9.97	\$	29.91	721113	1 Gaylord	Office & School Supplies
6	P+G 400CT	\$	4.98	\$	29.88	721113	1 Gaylord	Office & School Supplies
1	PM INKJOY	\$	27.47	\$	27.47	721113	1 Gaylord	Office & School Supplies
	MARKERS :	\$	3.27	\$	26.16	721113	1 Gaylord	Office & School Supplies
2		\$	12.98	\$	25.96	721113	1 Gaylord	Office & School Supplies
	Scribble St	\$	24.98	\$	24.98	721113	1 Gaylord	Office & School Supplies
	P+G SPORT	\$	4.94	\$	24.70	721113	1 Gaylord	Office & School Supplies
1		<u> </u>	23.98	\$	23.98	721113	1 Gaylord	Office & School Supplies
	Mr. Sketch		11.98	\$	23.96	721113	1 Gaylord	Office & School Supplies
	Quartet 16		23.88	\$	23.88	721113	1 Gaylord	Office & School Supplies
	HILROY PLA	\$	3.96	\$	23.76	721113	1 Gaylord	Office & School Supplies
	Sharp Scie		21.98	\$	21.98	721113	1 Gaylord	Office & School Supplies
	LT CLEAR P		10.98	\$	21.96	721113	1 Gaylord	Office & School Supplies
2	Case-Mate	_	10.47	\$	20.94	721113	1 Gaylord	Office & School Supplies
	ECO TREE 2	\$	6.96	\$	20.88	721113	1 Gaylord	Office & School Supplies
1	PAPERMAT	\$	19.98	\$	19.98	721113	1 Gaylord	Office & School Supplies
	Master Loc	_	19.98	\$	19.98	721113	1 Gaylord	Office & School Supplies
	SCRIBBLE S	_	19.98	\$	19.98	721113	1 Gaylord	Office & School Supplies
	Titech Pink	_	19.97	\$	19.97	721113	1 Gaylord	Office & School Supplies
			9.98	\$	19.96	721113	1 Gaylord	Office & School Supplies
4	<u> </u>		4.98	\$	19.92	721113	1 Gaylord	Office & School Supplies
5	HILROY NA	_	3.96	\$	19.80	721113	1 Gaylord	Office & School Supplies
	P+G TIEDY	\$	3.93	\$		721113	1 Gaylord	Office & School Supplies
	FIVE STAR	\$	18.97	\$	18.97	721113	1 Gaylord	Office & School Supplies
	CL BUNNY	\$	18.97	\$	18.97	721113	1 Gaylord	Office & School Supplies
	MYSTIC M	_	18.46	\$	18.46	721113	1 Gaylord	Office & School Supplies
3			5.98	\$	17.94	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		5.97	\$	17.91	721113	1 Gaylord	Office & School Supplies
	P+G RAINB	_	5.96	\$	17.88	721113	1 Gaylord	Office & School Supplies
	HILROY GR		2.18	\$	17.44	721113	1 Gaylord	Office & School Supplies
	Paper Mat	_	16.99	\$	16.99	721113	1 Gaylord	Office & School Supplies
	PAP21042	\$	8.48	\$	16.96	721113	1 Gaylord	Office & School Supplies
	NO-IRON K	_	5.42	\$	16.26	721113	1 Gaylord	Office & School Supplies
	CAMB SML	_	15.74	\$	15.74	721113	1 Gaylord	Office & School Supplies
	Sharpie Pe	_	15.58	\$	15.58	721113	1 Gaylord	Office & School Supplies
	STUDIO SC	_	15.44	\$	15.44	721113	1 Gaylord	Office & School Supplies
	Sharpie Ex	\$	14.98	\$	14.98	721113	1 Gaylord	Office & School Supplies
	P+G CYLINI		4.94	\$	14.82	721113	1 Gaylord	Office & School Supplies
	HILROY CO		6.96	\$	13.92	721113	1 Gaylord	Office & School Supplies
	1.1121101 00	۲	0.50	٢,	13.32	1,51112	1± Saylora	Torrice & Scribbi Supplies

	Five Star W		12.98	\$ 12.98	721113	1 Gaylord	Office & School Supplies
	MARS DUC	\$	12.97	\$ 12.97	721113	1 Gaylord	Office & School Supplies
1	FIVE STAR	\$	12.96	\$ 12.96	721113	1 Gaylord	Office & School Supplies
3	FS CLIP 'N	\$	4.16	\$ 12.48	721113	1 Gaylord	Office & School Supplies
6	PEN+GEAR	\$	2.08	\$ 12.48	721113	1 Gaylord	Office & School Supplies
1	Avery Mat	\$	11.97	\$ 11.97	721113	1 Gaylord	Office & School Supplies
4	DOUBLE LA	\$	2.97	\$ 11.88	721113	1 Gaylord	Office & School Supplies
1	Paper Mat	\$	11.53	\$ 11.53	721113	1 Gaylord	Office & School Supplies
1	Dudley's D	\$	10.97	\$ 10.97	721113	1 Gaylord	Office & School Supplies
1	Staedtler 1	\$	10.97	\$ 10.97	721113	1 Gaylord	Office & School Supplies
2	PEN+GEAR	\$	5.23	\$ 10.46	721113	1 Gaylord	Office & School Supplies
5	PEN+GEAR	\$	2.08	\$ 10.40	721113	1 Gaylord	Office & School Supplies
5	PEN+GEAR	\$	2.08	\$ 10.40	721113	1 Gaylord	Office & School Supplies
1	OVAL LABE	\$	10.32	\$ 10.32	721113	1 Gaylord	Office & School Supplies
1	Sharp 8-Di	\$	9.98	\$ 9.98	721113	1 Gaylord	Office & School Supplies
1	Dudley's D	\$	9.97	\$ 9.97	721113	1 Gaylord	Office & School Supplies
1	Sharpie Pe	\$	9.97	\$ 9.97	721113	1 Gaylord	Office & School Supplies
1	HIL EARTH	\$	9.96	\$ 9.96	721113	1 Gaylord	Office & School Supplies
2	NEON PEN	\$	4.97	\$ 9.94	721113	1 Gaylord	Office & School Supplies
1	FIVE STAR	\$	9.33	\$ 9.33	721113	1 Gaylord	Office & School Supplies
1	ADDRESS L	\$	9.28	\$ 9.28	721113	1 Gaylord	Office & School Supplies
1	TRAZO BP	\$	8.98	\$ 8.98	721113	1 Gaylord	Office & School Supplies
1	PEN+GEAR		8.97	\$ 8.97	721113	1 Gaylord	Office & School Supplies
1	STOP SYST	\$	8.88	\$ 8.88	721113	1 Gaylord	Office & School Supplies
4	MEAD PRR	\$	2.22	\$ 8.88	721113	1 Gaylord	Office & School Supplies
1	NOTED TAI	\$	8.86	\$ 8.86	721113	1 Gaylord	Office & School Supplies
5	SUPER ECC	\$	1.77	\$ 8.85	721113	1 Gaylord	Office & School Supplies
9	PG LIGHT V	\$	0.98	\$ 8.82	721113	1 Gaylord	Office & School Supplies
10	Hilroy Rep	\$	0.88	\$ 8.80	721113	1 Gaylord	Office & School Supplies
2	Staedtler-N	\$	4.33	\$ 8.66	721113	1 Gaylord	Office & School Supplies
3	Paper Mat		2.87	\$ 8.61	721113	1 Gaylord	Office & School Supplies
1	Elmer's Sce	_	8.52	\$ 8.52	721113	1 Gaylord	Office & School Supplies
	Hilroy Cam		8.46	\$ 8.46	721113	1 Gaylord	Office & School Supplies
1	Play Day 7	\$	8.07	\$ 8.07	721113	1 Gaylord	Office & School Supplies
1	FRIXION PO		7.98	\$ 7.98	721113	1 Gaylord	Office & School Supplies
1	FS STYLE 1	\$	7.96	\$ 7.96	721113	1 Gaylord	Office & School Supplies
	FIVE STAR	\$	7.96	\$ 7.96	721113	1 Gaylord	Office & School Supplies
4	FRIENDS 2	\$	1.98	\$ 7.92	721113	1 Gaylord	Office & School Supplies
	Cambridge		7.78	\$ 7.78	721113	1 Gaylord	Office & School Supplies
1	Hilroy Exec	_	7.66	\$ 7.66	721113	1 Gaylord	Office & School Supplies
1			7.54	\$ 7.54	721113	1 Gaylord	Office & School Supplies
	4pk Expo F		7.48	\$ 7.48	721113	1 Gaylord	Office & School Supplies
	Sharpie Fin		7.28	\$ 7.28	721113	1 Gaylord	Office & School Supplies
	Sharpie Pe		7.28	\$ 7.28	721113	1 Gaylord	Office & School Supplies
	MARKERS :	\$	7.27	\$ 7.27	721113	1 Gaylord	Office & School Supplies
	Five Star W		7.22	\$ 7.22	721113	1 Gaylord	Office & School Supplies
1	Five Star 1	\$	7.22	\$ 7.22	721113	1 Gaylord	Office & School Supplies

2 Five Star F S 3.58 S 7.16 721113 1 Gaylord Offfice & School Supplies		1					•		
PEN+GEAR S 6.96 S 6.96 721113 1 Gaylord Office & School Supplies 1 Bic Revolu S 6.59 S 6.59 721113 1 Gaylord Office & School Supplies 2 12PK HB P S 3.23 S 6.46 721113 1 Gaylord Office & School Supplies 1 MOTIVATA S 6.36 S 6.36 721113 1 Gaylord Office & School Supplies 1 MOTIVATA S 6.36 S 6.36 721113 1 Gaylord Office & School Supplies 1 SHAKE IT S 6.23 S 6.23 721113 1 Gaylord Office & School Supplies 1 SHARPIE 5 S 5.98 S 5.98 721113 1 Gaylord Office & School Supplies 1 Hilroy Troi S 5.98 S 5.98 721113 1 Gaylord Office & School Supplies 1 10 SLIM SI S 5.97 S 5.97 721113 1 Gaylord Office & School Supplies 1 10 SLIM SI S 5.97 S 5.96 721113 1 Gaylord Office & School Supplies 1 P-6 22IP S 5.96 S 5.98 721113 1 Gaylord Office & School Supplies 1 P-6 22IP S 5.96 S 5.96 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR S 5.77 S 5.77 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR S 5.77 S 5.77 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR S 5.76 S 5.76 721113 1 Gaylord Office & School Supplies 1 PIVE STAR S 5.66 S 5.66 721113 1 Gaylord Office & School Supplies 1 Sharpie - P S 5.48 S 5.48 721113 1 Gaylord Office & School Supplies 1 Sharpie - P S 5.48 S 5.48 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.46 S 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.46 S 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.48 S 5.38 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.38 S 5.38 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.38 S 5.38 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.38 S 5.38 721113 1 Gaylord Office & School Supplies 1 PIVE TACK S 5.16 S 5				3.58	\$		721113	1 Gaylord	Office & School Supplies
Bic Revolur \$ 6.59 \$ 6.59 721113 1 Gaylord Office & School Supplies 1 Paper Mat \$ 6.48 \$ 6.48 721113 1 Gaylord Office & School Supplies 2 12PK HB P \$ 3.23 \$ 6.46 721113 1 Gaylord Office & School Supplies 1 MOTIVATA \$ 6.36 \$ 6.36 721113 1 Gaylord Office & School Supplies 1 SHAKE IT U \$ 6.23 \$ 6.23 721113 1 Gaylord Office & School Supplies 1 SHAKE IT U \$ 6.23 \$ 6.23 721113 1 Gaylord Office & School Supplies 1 SHAKE IT U \$ 6.23 \$ 6.23 721113 1 Gaylord Office & School Supplies 1 Hilroy Troit \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 Hilroy Troit \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 P4G 2ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies P4G 2ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.77 \$ 5.77 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.76 \$ 5.88 721113 1 Gaylord Office & School Supplies 1 QUARTET \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.65 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.61 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.88 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.28 \$ 5.28 72	1	Staedtler X		6.98		6.98	721113	1 Gaylord	Office & School Supplies
Paper Mat \$ 6.48 \$ 6.48 721113 1 Gaylord Office & School Supplies 2 12PK HB P \$ 3.23 \$ 6.46 721113 1 Gaylord Office & School Supplies 1 MOTIVATA \$ 6.36 \$ 6.36 721113 1 Gaylord Office & School Supplies 1 SHAKE IT	1	PEN+GEAR		6.96		6.96	721113	1 Gaylord	Office & School Supplies
2 12PK HB P \$ 3.23 \$ 6.46 721113 1 Gaylord Office & School Supplies 1 MOTIVATA \$ 6.36 \$ 6.36 721113 1 Gaylord Office & School Supplies 1 SHARPIE \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 SHARPIE \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 Hilroy Troi \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 Hilroy Troi \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 P+G ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies 2 DOUBLE LZ \$ 2.97 \$ 5.94 721113 1 Gaylord Office & School Supplies 3 #HILROY P \$ 1.96 \$ 5.88 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.77 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 PINTE TAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.38 \$ 5.38 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 \$ 5.10 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.98 \$ 5.98 \$	1	Bic Revolut	_	6.59		6.59	721113	1 Gaylord	Office & School Supplies
MOTIVATA \$ 6.36 \$ 6.36 721113 1 Gaylord Office & School Supplies 1 SHAKE IT \$ 6.23 \$ 6.23 721113 1 Gaylord Office & School Supplies 1 SHARPIE \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 Hilfroy Troi \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 IO SLIMSI \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 IO SLIMSI \$ 5.97 \$ 5.97 721113 1 Gaylord Office & School Supplies 2 DOUBLE \$ 2.97 \$ 5.94 721113 1 Gaylord Office & School Supplies 2 DOUBLE \$ 2.97 \$ 5.94 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.77 \$ 5.77 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.66 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.66 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.47 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.48 \$ 4.98 721113 1 Gaylord Office & School Supplies 1 PIVE STAR \$ 5.48 \$ 4.98 721113 1 Gaylord Of	1	<u> </u>					721113	1 Gaylord	Office & School Supplies
SHAKE IT U \$ 6.23 \$ 6.23 721113 1 Gaylord Office & School Supplies	2	12PK HB PI		3.23		6.46	721113	1 Gaylord	Office & School Supplies
SHARPIE 5	1	MOTIVATA	_	6.36	_	6.36	721113	1 Gaylord	Office & School Supplies
Hilroy Troi \$ 5.98 \$ 5.98 721113 1 Gaylord Office & School Supplies 1 D SLIM SI \$ 5.97 \$ 5.97 721113 1 Gaylord Office & School Supplies 1 P+G 2ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies 3 HHILROY P \$ 1.96 \$ 5.88 721113 1 Gaylord Office & School Supplies 3 HHILROY P \$ 1.96 \$ 5.88 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.77 \$ 5.77 721113 1 Gaylord Office & School Supplies 1 QUARTET \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.48 \$ 5.38 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.38 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.38 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 \$ 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.28 \$ 5.29 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.44 \$ 5.44 721113 1 Gaylord Of	1	SHAKE IT U	_	6.23		6.23	721113	1 Gaylord	Office & School Supplies
1 10 SLIM SI \$ 5.97 \$ 5.97 721113 1 Gaylord Office & School Supplies 1 PH-G 2ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies 2 DOUBLE LF \$ 2.97 \$ 5.94 721113 1 Gaylord Office & School Supplies 3 #HILROY P \$ 1.96 \$ 5.88 721113 1 Gaylord Office & School Supplies 1 PENH-GEAR \$ 5.77 \$ 5.77 721113 1 Gaylord Office & School Supplies 1 PENH-GEAR \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 QUARTET \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 6 LIGHT BLU \$ 0.94 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 Sh CHALK \$ 5.28 \$ 5.38 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.94 \$ 3.83 \$ 3.80 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Offic	1	SHARPIE 51		5.98		5.98	721113	1 Gaylord	Office & School Supplies
P+G 2ZIP P \$ 5.96 \$ 5.96 721113 1 Gaylord Office & School Supplies							721113	1 Gaylord	Office & School Supplies
2 DOUBLE L \$ 2.97						5.97	721113	1 Gaylord	Office & School Supplies
3 #HILROY P \$ 1.96 \$ 5.88 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 5.77 \$ 5.77 721113 1 Gaylord Office & School Supplies 1 QUARTET \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.47 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.47 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.58 \$ 5.28 721113 1 Gaylord Office & Sch	1			5.96		5.96	721113	1 Gaylord	
PEN+GEAR S 5.77 S 5.77 721113 1 Gaylord Office & School Supplies	2	DOUBLE LA	_	2.97				1 Gaylord	Office & School Supplies
1 QUARTETI \$ 5.76 \$ 5.76 721113 1 Gaylord Office & School Supplies 1 FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies 6 LIGHT BLU \$ 0.94 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.48 721113 1 Gaylord Office & School Supplies 3 Hilroy Rec \$ 1.78 \$ 5.34 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.98 721113 1 Gaylord <td< td=""><td>3</td><td>#HILROY P</td><td>_</td><td>1.96</td><td></td><td>5.88</td><td>721113</td><td>1 Gaylord</td><td>Office & School Supplies</td></td<>	3	#HILROY P	_	1.96		5.88	721113	1 Gaylord	Office & School Supplies
FIVE STAR \$ 5.66 \$ 5.66 721113 1 Gaylord Office & School Supplies	1	PEN+GEAR		5.77		5.77	721113	1 Gaylord	Office & School Supplies
6 LIGHT BLU \$ 0.94 \$ 5.64 721113 1 Gaylord Office & School Supplies 1 Sharpie - P \$ 5.48 \$ 5.48 721113 1 Gaylord Office & School Supplies 1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 725 Pencil \$ 5.38 \$ 5.38 721113 1 Gaylord Office & School Supplies 3 Hilroy Rec \$ 1.78 \$ 5.34 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.44 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.97 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 FILUO MAX \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FS TAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies	1	QUARTET I	_	5.76		5.76	721113	1 Gaylord	Office & School Supplies
1 Sharpie - P \$ 5.48 \$ 5.48 721113	1	FIVE STAR		5.66			721113	1 Gaylord	Office & School Supplies
1 FUN-TACK \$ 5.46 \$ 5.46 721113 1 Gaylord Office & School Supplies 1 725 Pencil \$ 5.38 \$ 5.38 721113 1 Gaylord Office & School Supplies 3 Hilroy Rec \$ 1.78 \$ 5.34 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.98 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star Fig \$ 4.24 \$ 4.721113 1 Gaylord Office & Schoo			_	0.94	_	5.64	721113	1 Gaylord	Office & School Supplies
1 725 Pencil \$ 5.38 \$ 5.38 721113 1 Gaylord Office & School Supplies 3 Hilroy Rec, \$ 1.78 \$ 5.34 721113 1 Gaylord Office & School Supplies 1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.84 \$ 3.84 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.84 \$ 3.84 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.84 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FENHGEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FENHGEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FENHGEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office &		•					721113	1 Gaylord	' '
3 Hilroy Rec, \$ 1.78	1	FUN-TACK		5.46		5.46	721113	1 Gaylord	Office & School Supplies
1 SH CHALK \$ 5.28 \$ 5.28 721113 1 Gaylord Office & School Supplies 1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supp	1	725 Pencil		5.38		5.38	721113	1 Gaylord	
1 Newell Bra \$ 5.23 \$ 5.23 721113 1 Gaylord Office & School Supplies 1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School							721113	1 Gaylord	Office & School Supplies
1 HILROY 7 F \$ 5.16 \$ 5.16 721113 1 Gaylord Office & School Supplies 2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92	1	SH CHALK		5.28		5.28	721113	· ·	Office & School Supplies
2 Hilroy Figu \$ 2.56 \$ 5.12 721113 1 Gaylord Office & School Supplies 1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 3.96 \$ 2.1113	-						721113	1 Gaylord	Office & School Supplies
1 SW MINI P \$ 4.98 \$ 4.98 721113 1 Gaylord Office & School Supplies 2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star F \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76	1	HILROY 7 P		5.16		5.16	721113	1 Gaylord	Office & School Supplies
2 Paper Mat \$ 2.48 \$ 4.96 721113 1 Gaylord Office & School Supplies 5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star FI \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star SI \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76	2	Hilroy Figu		2.56		5.12	721113	1 Gaylord	Office & School Supplies
5 CLASSIC HI \$ 0.98 \$ 4.90 721113 1 Gaylord Office & School Supplies 1 Five Star Fi \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star Si \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord <td< td=""><td>1</td><td>SW MINI P</td><td></td><td>4.98</td><td></td><td>4.98</td><td>721113</td><td>1 Gaylord</td><td>Office & School Supplies</td></td<>	1	SW MINI P		4.98		4.98	721113	1 Gaylord	Office & School Supplies
1 Five Star F; \$ 4.44 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star SI \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76				2.48			721113	1 Gaylord	Office & School Supplies
2 MEAD PRR \$ 2.22 \$ 4.44 721113 1 Gaylord Office & School Supplies 2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star Sf \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43	-			0.98			721113		
2 HILROY PL \$ 2.18 \$ 4.36 721113 1 Gaylord Office & School Supplies 1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43									
1 SW TOT M \$ 4.28 \$ 4.28 721113 1 Gaylord Office & School Supplies 1 Five Star S \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28				2.22		4.44	721113	1	Office & School Supplies
1 Five Star St \$ 4.12 \$ 4.12 721113 1 Gaylord Office & School Supplies 2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 FEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28	2	HILROY PL	_			4.36	721113	<u> </u>	
2 PEN+GEAR \$ 1.98 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies				4.28			721113	 	
1 GREEN VIB \$ 3.96 \$ 3.96 721113 1 Gaylord Office & School Supplies 1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies								 	• • • • • • • • • • • • • • • • • • • •
1 Hilroy 108 \$ 3.92 \$ 3.92 721113 1 Gaylord Office & School Supplies 1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies	2							<u> </u>	
1 BIRTHDAY \$ 3.88 \$ 3.88 721113 1 Gaylord Office & School Supplies 1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies	-							 	
1 Staedtler 4 \$ 3.83 \$ 3.83 721113 1 Gaylord Office & School Supplies 1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies		·							
1 Staedtler L \$ 3.76 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies								 	
4 DK BLUE R \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies							-		• • • • • • • • • • • • • • • • • • • •
4 BLACK REP \$ 0.94 \$ 3.76 721113 1 Gaylord Office & School Supplies 1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies								 	
1 PEN+GEAR \$ 3.48 \$ 3.48 721113 1 Gaylord Office & School Supplies 1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies									
1 FLUO MAX \$ 3.43 \$ 3.43 721113 1 Gaylord Office & School Supplies 1 FS STAY-PL \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies								1	
1 FS STAY-PU \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies 1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies									·
1 FS DAISY P \$ 3.28 \$ 3.28 721113 1 Gaylord Office & School Supplies									
								<u> </u>	
3 LAMINATE \$ 1.08 \$ 3.24 721113 1 Gaylord Office & School Supplies			_				-	-	
	3	LAMINATE	\$	1.08	\$	3.24	721113	1 Gaylord	Ottice & School Supplies

						,		
	DOUBLE LA	\$	2.97	\$	2.97	721113	1 Gaylord	Office & School Supplies
1	LARGE SCH	-	2.97	\$	2.97	721113	1 Gaylord	Office & School Supplies
1	P+G FASHI	\$	2.97	\$	2.97	721113	1 Gaylord	Office & School Supplies
3	PG LTWT P	\$	0.98	\$	2.94	721113	1 Gaylord	Office & School Supplies
3	RED REPOR	\$	0.94	\$	2.82	721113	1 Gaylord	Office & School Supplies
1	SCISSOR KI	\$	2.66	\$	2.66	721113	1 Gaylord	Office & School Supplies
1	Elmer's Re	\$	2.48	\$	2.48	721113	1 Gaylord	Office & School Supplies
1	UNIVERSAI	\$	2.33	\$	2.33	721113	1 Gaylord	Office & School Supplies
1	MARKERS	\$	2.27	\$	2.27	721113	1 Gaylord	Office & School Supplies
			2.26	\$	2.26	721113	1 Gaylord	Office & School Supplies
	HILROY GO		2.22	\$	2.22	721113	1 Gaylord	Office & School Supplies
	Paper Mat		2.18	\$	2.18	721113	1 Gaylord	Office & School Supplies
	HILROY MA		2.18	\$	2.18	721113	1 Gaylord	Office & School Supplies
	HILROY BU	\$	2.18	\$	2.18	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR	_	2.08	\$	2.08	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR	_	1.98	\$	1.98	721113	1 Gaylord	Office & School Supplies
1			1.97	\$	1.97	721113	1 Gaylord	Office & School Supplies
	HIGHLIGHT	\$	0.98	\$	1.96	721113	1 Gaylord	Office & School Supplies
	BIC Ultra R	_	1.96	\$	1.96	721113	1 Gaylord	Office & School Supplies
	PG LTWT P		0.98	\$	1.96	721113	1 Gaylord	Office & School Supplies
	BLACK REP		0.94	\$	1.88	721113	1 Gaylord	Office & School Supplies
	RED REPOR		0.94	\$	1.88	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		0.94	\$	1.88	721113	1 Gaylord	Office & School Supplies
	SUPER ECC		1.77	\$	1.77	721113	1 Gaylord	Office & School Supplies
	Hilroy Rep		0.88	\$	1.76	721113	1 Gaylord	Office & School Supplies
			0.58	\$	1.74	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		0.58	\$	1.74	721113	1 Gaylord	Office & School Supplies
	PEN GEAF		1.74	\$	1.74	721113	1 Gaylord	Office & School Supplies
	Hilroy Exer		1.42	\$	1.42	721113	1 Gaylord	Office & School Supplies
	PG POLY R		1.38	\$	1.38	721113	1 Gaylord	Office & School Supplies
	Hilroy 80 p		1.38	\$		721113	1 Gaylord	Office & School Supplies
	PG POLY T		1.38	\$	1.38	721113	1 Gaylord	Office & School Supplies
	PG POLY T	_	1.38	\$	1.38	721113	1 Gaylord	Office & School Supplies
	PG POLY T		1.28	\$	1.28	721113	1 Gaylord	Office & School Supplies
	PG POLY C	\$	1.28	\$	1.28	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		1.27	\$	1.27	721113	1 Gaylord	Office & School Supplies
	METAL RU	\$	1.27	\$	1.27	721113	1 Gaylord	Office & School Supplies
	Washable :	\$	1.27	\$	1.27	721113	1 Gaylord	Office & School Supplies
	KIDS SCISS			\$	1.18		+	Office & School Supplies
	LAMINATE	_	1.18	\$ \$		721113	1 Gaylord	Office & School Supplies
			1.08	\$	1.08	721113	1 Gaylord	
	PEN+GEAR PG LIGHT V		0.98	\$	0.98	721113	1 Gaylord	Office & School Supplies
			0.98	\$		721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		0.98		0.98	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		0.98	\$	0.98	721113	1 Gaylord	Office & School Supplies
	PEN+GEAR		0.94		0.94	721113	1 Gaylord	Office & School Supplies
1			0.94	\$	0.94	721113	1 Gaylord	Office & School Supplies
1	PEN+GEAR	\$	0.94	\$	0.94	721113	1 Gaylord	Office & School Supplies

1	PEN+GEAR	\$ 0.94	\$ 0.94	721113	1 Gaylord	Office & School Supplies
1	DARK BLUE	\$ 0.94	\$ 0.94	721113	1 Gaylord	Office & School Supplies
1	Hilroy Repo	\$ 0.88	\$ 0.88	721113	1 Gaylord	Office & School Supplies
1	Hilroy Repo	\$ 0.88	\$ 0.88	721113	1 Gaylord	Office & School Supplies
1	CRAYONS 2	\$ 0.84	\$ 0.84	721113	1 Gaylord	Office & School Supplies